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— Practise:
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Problem Solve:

1.
Rosie uses Base 10 to subtract 70 from 321
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321-70=251
Use Rosie’s method to calculate:
321-80 421 — 6 tens 451 - 60

2.
Count back In tens to solve 240 - 70
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160 170 180 190 200 210 220 230 240 250 260

5.
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How many different methods could you
use to solve 837 - 907

Share your methods with a partner.

Complete the missing digits.

13[]-50 =85
334 -[]0 =294
545 =6[]5-70

3.
Amir calculates 425 — 90 by subtracting 100 and then adding 10
425 - 100 = 325
325 +10 = 335
Use Amir's method to solve
386 — 90 574 — 90 212 -90
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Whitney thinks the rule for the function
machine is subtract 60
Is she correct? Explain why.

Input Rule Output

567 — 7 —— 49/




